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Math 120, 123 Practice Quiz # 21 – Sections 11.1-11.4
Exponential and Logarithmic Functions, Inverse Functions
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a. Determine the domain of f(x).
x ≠ 2

b. Find (f – g) (3)


- 4 ½


c. Find (f + g) (-1)


5/6  
d. Find
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(x + 2)(2x – 4) or 2x2 – 8
e. Find (fg)(x)
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2. f(x) = 3x – 3
g(x) – 4 – x2
Find:
a. 
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a. -42 
     b. - 85    
c. -3x2 – 15 
 d. – 9x2 + 12x – 13   e. 9x – 12    f. – x4 + 8x2 – 20 
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a. Graph f(x) and determine if it is one-to-one.
Yes one-to-one
b. Determine 
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for all x in the domain of f.
- 2/x + 3/2 
c. Is 
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a function?
yes
4. A verbal description of
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 is given. Write a verbal description of 
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.The function squares 2 less than x, then adds 3.


Subtract 3 from x. Take the square root of the result and then add 2 to that result.
5. If 
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 what would the function equal if f was
a. moved up 2 units?

f(x) = 3x + 2
b. moved to the left 4 units?
f(x) = 3x + 4
c. reflected over the y-axis?
f(x) = 3-x
d. reflected over the x-axis?
f(x) = - 3x 
In problems 6-8, solve the exponential equation.
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  no solution
In problems 9-11, write the given logarithmic equation in exponential form. Then solve for x.

9. log2
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= x
 2x = ¼; - 2
10.   ln x = 0  e0 = x; 1
11.  log7(3x + 4) =2  72 = 3x + 4; 15
In problems 12-14, compare the graphs of the given function to f(x) = ln x. Then state the domain of the function g(x).

12.  g(x) = -1 + ln x

13.  g(x) = ln (x – 5)

14. g(x) = ln (-x) + 2
12. moved down 1 unit; D = 
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13. moved right 5 units; D = 
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14. reflected over the y-axis and moved up 2 units; D = 
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